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2N BBoI23
M Z3EAAZ J|E BF(22H/2A29=)
el 522018 &4 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 1,187,500
307 @20l & 2,375,000 2,375,000 0
[ 1,187,500
= 1,187,500
02 QB HANSEER 2,375,000 2,375,000 0
OXI% S22 HHMA =34 2,375,000
[ 1,187,500
= 1,187,500
Xt S22 gEHA 2R(=12) (=) 25,000 25,000 0
= 12,500
< 12,500
402 2I2FX+=01 & 25,000 25,000 0
= 12,500
= 12,500
02 QI XHE AL E R (01X THE) 25,000 25,000 0
OXI% B32H92 HMA 2=(XH=2) 25,000
[ 12,500
= 12,500
S32=012 2N 41,819,397 42,862,997 1,043,600
= 217,000
[ 20,090,000
= 21,512,397
Agelzd e =& 354,100 354,100 0
201 2= 22,100 22,100
01 At22t2l] 22,100 22,100
O22d M =aE 213 S 29 22,100
202 04l 8,000 8,000
01 2LHoIH 8,000 8,000
OoXNgozd JEMHe =8 8,000
307 el2to| & 324,000 324,000
02 2B YAIHE A 324,000 324,000
OFHAUSA 2&58ds N& 324,000
SISF X A0t OFRMHENZRI s 22 270,000 75,000 195,000
308 AFAIEHMSOIE 270,000 75,000 195,000
01 AXEH B EES 270,000 75,000 195,000
O2ZF <Xl A0t ORHIAIZI s 2 270,000
Loz JIseE2(=1) 31,230,000 25,506,000 5,724,000
= 15,615,000
== 15,615,000
402 QIF X201 & 31,230,000 25,506,000 5,724,000
= 15,615,000
< 15,615,000
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MEE
Ofl &k2h
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12,450,000
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558,100

558,100
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Ofl &F2H
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fir

H

fir
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H
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FA B2z
BB o2 Y HUHES BN AsH(HH/EAHAR)
&elr o2 F X A& (S &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOl 200,000 200,000
01 XN BSELES 200,000 200,000
O2=HUA S 28 A2 200,000
ZFoXl BTN 2H (1) 300,000 300,000 0
s 200,000
= 100,000
308 AHAIEHMSOIE 300,000 300,000 0
[ 200,000
= 100,000
01 AXEH B EES 300,000 300,000 0
O22HAA ASAHA I=H=2HH| X2 300,000
= 200,000
= 100,000
O FHoXl K& (A0tFAED e124H)(=1) 375,000 375,000 0
= 250,000
< 125,000
308 AHAIEMSOIE 375,000 375,000 0
s 250,000
= 125,000
01 HAHHBSEXRS 375,000 375,000 0
OSIZF A XNEAMG 212i8| 375,000
[ 250,000
= 125,000
SO X XI&(248])(=12) 2,400,000 2,775,000 A375,000
= 1,600,000
== 800,000
308 AHXIEMSOIE 2,400,000 2,775,000 A375,000
= 1,600,000
< 800,000
01 HAHHBSEEXS 2,400,000 2,775,000 A375,000
OZCHFAX XA 2I2A4H| 2,400,000
s 1,600,000
= 800,000
X2 2UMEOI 2EH| X2 250,000 250,000 0
308 XXM SOIA 250,000 250,000
01 AXEH B2 LS 250,000 250,000
Ofxogd AR 24| XI& 250,000
TYeuus ZTEANY NA(CHASLAY) (2 9,000 100,000 410,000
2)
) 45,000
== 45,000
307 @120l & 90,000 100,000 10,000
Jl 45,000
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FA B2z
BB o2 Y HUHES BN AsH(HH/EAHAR)
= A FX N (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 45,000
02 QItEHAEE X 90,000 100,000 10,000
O EAS2YEA 90,000
Jl 45,000
= 45,000
TYRUYRA DTHAAY KR (ZFHA=AHSHR)( 50,000 45,000 5,000
23)
J| 50,000
308 AtAIEMSOIE 50,000 45,000 5,000
Jl 50,000
01 XN BSELS 50,000 45,000 5,000
OFEIANIEZE 50,000
) 50,000
e ARSI o202 Xd(21) 114,134 102,000 12,134
= 57,067
< 57,067
307 el2to| & 114,134 102,000 12,134
= 57,067
S 57,067
02 QIZtASAIEE X 114,134 102,000 12,134
oEgMedd 114,134
[ 57,067
= 57,067
ZOHQIA AL E2A A XA (=12) 188,622 183,987 4,635
= 167,185
s 31,437
308 XHXIEMSOIE 188,622 183,987 4,635
= 157,185
< 31,437
01 HXHHBAEES 188,622 183,987 4,635
OXIHAIZI SETHEAIY e121] 188,622
= 157,185
= 31,437
ZOHIAHLEAH At XSGHH K& (21) 556,176 557,340 A1,164
= 278,088
S 278,088
307 glztol & 556,176 567,340 A1,164
= 278,088
== 278,088
02 2B YAIHE & 556,176 557,340 A1,164
OXSH A2 2 HIE 556,176
= 278,088
< 278,088
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AN SEAE D
Ho: o2 U HOUHS OBOINY AsH(R/EA0 )
eelr Q=2 HAX X CEREED
RA - BE - SHAEH) - HRA - BAS ol &t e HIDEY
FHotXd S=224dH X (=21) 470,000 520,000 250,000
Il 470,000
307 21201 & 470,000 520,000 /50,000
Il 470,000
02 QI HAANEE X 470,000 520,000 /50,000
OF AN Ss2sHE N 470,000
Il 470,000
FHAXA S=2d8012 N (=1) 2,458,600 2,716,000 A257,400
Il 2,458,600
308 AXIHMSO0IA 2,458,600 2,716,000 A257,400
Il 2,458,600
01 HAHHBSEEXS 2,458,600 2,716,000 A257,400
OF AN sg2=z712 N 2,458,600
Il 2,458,600
=222 FAXNS g 2T 2 XA(=1) 182,000 200,000 18,000
Il 182,000
308 XtXIEMSO0IE 182,000 200,000 18,000
J| 182,000
01 HASHHBSEEXS 182,000 200,000 18,000
S228 FAAY gRoz0i2 X2 182,000
Il 182,000
8822 HAXR 24s0d IA X (21) 361,026 408,940 A57,914
Il 361,026
307 212t01™ 351,026 408,940 A57,914
J| 351,026
02 QIZtEAAIEE X 361,026 408,940 A57,914
Oss82z FAKG 2tsely mA X2 351,026
Jl 361,026
22895 FHAX FAT HERT 2=E(=1) 47,500 45,700 1,800
Il 47,500
307 212t01™ 47,500 45,700 1,800
J| 47,500
02 QItEHAIEE X 47,500 45,700 1,800
Os=2g HAXY A€M HERAT +
= 47,500
bl 47,500
SIZFAAS KN 4,660,7% 4,926,863 N266,069
= 30,000
Il 1,636,300
== 2,994,494
=otgael XA X2(LZx8 X&) (=12) 1,723,560 1,626,000 97,560
Il 1,436,300
= 287,260
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AN SEAE D
Ho: o2 U HOUHS OBOINY AsH(R/EA0 )
=Rl AZHFHAIAS K CEREED
RA - BE - SHAEH) - HRA - BAS ol &t e HIDEY
308 XHXIEMSOIH 1,723,560 1,626,000 97,560
Il 1,436,300
== 287,260
01 MRHHBAEES 1,723,560 1,626,000 97,560
ogd &l A& 1,723,560
Il 1,436,300
& 287,260
2ozl XA XS (LHEX SERXLH X2 )( 200,000 200,000 0
=1)
Il 100,000
= 100,000
307 212t01™ 200,000 200,000 0
J| 100,000
== 100,000
02 QA EANGEEX 200,000 200,000 0
OZUEA SSAIXHE K& 200,000
Il 100,000
< 100,000
2orzel XAM X (XASHE X)) (=1) 200,000 202,000 A2,000
Il 100,000
= 100,000
307 212t01& 200,000 202,000 22,000
J| 100,000
=S 100,000
02 2B A E X 200,000 202,000 22,000
OXSAdEH X3 200,000
J| 100,000
< 100,000
SEX o=Hl 2 Motz N (LR =H) (& 1,500,000 1,950,450 450,450
EALY)
308 AHXIHMSOIA 1,500,000 1,950,450 A450,450
01 KXICHHIZAEED 1,500,000 1,950,450 450,450
OYEKt o2HI(F8) 1,500,000
orEt Xt o2l Y MOt EE| XA (WIILER 22l 41,304 41,304 0
HEAL)
308 XXM SOIH 41,304 41,304
01 HREHH B E2ES 41,304 41,304
OIS &R 22l (& E) 41,304
e=e2EN 8 d=2XA(=1) 42,857 42,857 0
= 30,000
= 12,857
307 @I2t01 & 42,857 42,857 0
= 30,000
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FA B2z
BB o|ZFOH Y HUHES BN As(HH/EAHAR)
Rl AZ2HAAHS KA (SH9 M)
SA - ZE - BR(3) - HRA - B of v e HIDE2
< 12,857
012z & a=Hl 42,857 42,857 0
oL=e22Xt S A=ZXH 42,857
= 30,000
= 12,857
MO H Xt S 2A=2H X2 230,500 232,000 21,500
301 LEtE NS 230,500 232,000 21,500
02 MBI 2HHSFHS(HAANS, XLHE) 230,500 0 230,500
OMIIXHER S 2=l K& 230,500
25X gl g4 29 722,573 632,252 90,321
308 AXIMSOIA 722,573 632,252 90,321
01 XN B2 LS 722,573 632,252 90,321
251 gl g4 =29 722,573
Lo20F YSMHIA EE(EH/2H98) 9,233,051 8,888,644 344,407
Il 7,524,091
= 1,708,960
S29s xgt == 8,996,410 8,621,900 334,510
Jl 7,371,800
< 1,584,610
SS2eXgdH 234 X&(=1) 209,300 205,200 4,100
) 104,650
S 104,650
307 gl2to| & 209,300 205,200 4,100
Il 104,650
= 104,650
02 B AAHEE 209,300 205,200 4,100
OS=s2ASXNHHE 2gH N3 209,300
Jl 104,650
= 104,650
222AZ0IEHA X&(22) 3,470,000 3,481,000 A11,000
Jl 2,429,000
< 1,041,000
307 el2to| & 3,470,000 3,481,000 A11,000
) 2,429,000
= 1,041,000
02 QB HANSEER 3,470,000 3,481,000 A11,000
OJIE S=22 dgd)| 24| 3,470,000
Jl 2,429,000
= 1,041,000
g2 2012 otz g Ex3(=31) 1,036,900 1,069,200 A32,300
Il 915,940
== 120,960
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FAN B2z
M LF0F 2 AMHIA EF(EAH/2H2AZ)
Helr 222z Xt &5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
307 glztol & 1,036,900 1,069,200 A32,300
Jl 915,940
== 120,960
02 2IZHBYAIHE X 1,036,900 1,069,200 A32,300
OHIFH S22 28 N 1,036,900
) 915,940
S 120,960
a0tsekt 8gd=22 X 243,000 0 243,000
308 AXIHMSO0IA 243,000 243,000
01 XN B EES 243,000 243,000
OAllsetit dgd=22 X 243,000
SEAME2IEHAH 2E(2D) 3,818,210 3,765,000 53,210
Jl 3,818,210
307 gI2t0| & 3,818,210 3,765,000 53,210
7l 3,818,210
02 2B YA AR A 3,818,210 3,765,000 53,210
OdHHH =2g K& 3,818,210
) 3,818,210
MHAME S ESHA wSsH XY(=21) 150,000 78,000 72,000
Jl 75,000
< 75,000
307 el2to| & 150,000 78,000 72,000
) 75,000
S 75,000
05 212+ =S 150,000 0 150,000
O&Hads S SSXX WUFH XA 150,000
Jl 75,000
= 75,000
NsdEs2a)| 22 NJ(21) 29,000 23,500 5,500
J| 29,000
403 AXIEHMSA=201E 29,000 23,500 5,500
Il 29,000
01 AXISHHA 22 £ 29,000 23,500 5,500
oMsdEEaI| 25 Nd 29,000
Il 29,000
Hetelg M= 276,641 266,744 9,897
Jl 152,291
== 124,350
XS =S 12,800 12,800 0
202 04t 5,000 5,000
01 =LHOHI 5,000 5,000
onNts=2E At =4 5,000
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2N BBoI23
M LF0F 2 AMHIA EF(EAH/2H2AZ)
gelr HHels MATS (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
307 glztol & 7,800 7,800
02 2B YA E X 7,800 7,800
OMHeSXN2ExE 24 7,800
A=lEE 29 X (21) 25,074 25,200 A126
) 25,074
308 AXIHMSO0IA 25,074 25,200 A126
Il 25,074
01 HAHHBLEXS 25,074 25,200 N126
ouLlise 2g X 25,074
Jl 25,074
HeAEg 249 N(=21) 199,600 188,600 11,000
Il 99,800
= 99,800
307 @12t01 & 199,600 188,600 11,000
Jl 99,800
= 99,800
02 LB HANHEE 199,600 188,600 11,000
OdHE HHAZ MG HiXl 28 X2 199,600
Jl 99,800
=S 99,800
Hs2os 2dSde 2H9(=20) 39,167 40,144 AG77
) 27,417
& 11,750
307 @201 & 39,167 40,144 Ng77
Jl 27,417
= 11,750
02 QB HANEER 39,167 40,144 A9TT
onNtsss PHSMY 2F 39,167
7l 27,417
= 11,750
Azg 2N2H MHlA MB(2d/2242%) 9,651,575 7,609,914 2,041,661
= 1,652,000
Jl 853,750
== 7,145,825
SUSHAA 9,651,575 7,609,914 2,041,661
= 1,652,000
7l 853,750
=S 7,145,825
HOPts &R 29 75,000 100,000 225,000
308 XXM SOIA 75,000 100,000 225,000
01 XN B2 LS 75,000 100,000 A25,000
OFO0OPh= =01 29 75,000
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2N BIo23
M =2 2XEA NMHIA HMS(EA/22H28)
Cel: 2UEHRA EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 12,000
308 AtXIEMSOIE 36,000 32,431 3,569
Il 24,000
= 12,000
01 AXEH B ELES 36,000 32,431 3,569
ORXEHAIY 2015 36,000
7l 24,000
= 12,000
AU MR ogH N|(21) 12,750 27,300 214,550
Jl 8,500
< 4,250
301 EtE NS 12,750 27,300 14,550
) 8,500
= 4,250
01 Al EE A S(FREEMA) 12,750 27,300 14,550
OFAY &2 olZH| X 12,750
Il 8,500
= 4,250
DRE JAR o=dl XJ(=1) 288,000 114,000 174,000
Il 192,000
= 96,000
301 EtE N = 288,000 114,000 174,000
Jl 192,000
< 96,000
01 Al EE A S (2 REXMA) 288,000 114,000 174,000
O1RAE YUTF 2gHl XA 283,000
) 192,000
= 96,000
MOHZED] HZ2e| X (21) 88,350 88,350 0
Jl 58,900
= 29,450
308 XXM SOIA 88,350 88,350 0
Il 58,900
== 29,450
01 HREHHBAEES 88,350 88,350 0
QA=) A2l X&H 88,350
Il 58,900
< 29,450
0/=0t & A& 0l&0t 2zHl XA (212) 222,000 147,000 75,000
Il 148,000
= 74,000
301 22N 222,000 147,000 75,000
Jl 148,000
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M 332
R
=

B BEe 2N MHIA HB(22A/2AIR)
ol 2U2EAXH (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 74,000
01 Al EE A S (2 RNEXMA) 222,000 147,000 75,000
O0I=0t & A& 0l&0F 2A=Hl K& 222,000
Jl 148,000
= 74,000
SEA UAIOI& A 2 &0t 22l(21) 121,500 129,000 AT7,500
Jl 81,000
=S 40,500
301 EtE NS 121,500 129,000 AT7,500
Il 81,000
< 40,500
01 Al EE A S (2 DEXR) 121,500 129,000 AT,500
OdE A0l HAF & 20 2l 121,500
) 81,000
S 40,500
SEd UE A Y 230 XN¥(=1) 33,000 15,000 18,000
7l 22,000
= 11,000
301 2eEN= 33,000 15,000 18,000
Il 22,000
= 11,000
01 Al EEATZ(2REXMR) 33,000 15,000 18,000
OoddEd U ZA ¥ 2FI N 33,000
Jl 22,000
< 11,000
HNASE JIMA ZHEs NJ(21) 1,982,400 1,923,600 58,800
= 1,652,000
= 330,400
301 2= 1,982,400 1,923,600 58,800
= 1,652,000
= 330,400
01 AR 2 HSHS(RNEXRTH) 1,982,400 1,923,600 58,800
OMASE JIMH & ZHER X 1,982,400
= 1,652,000
== 330,400
RIS ZHA R=(E2H/2AH28) 811,720 647,900 163,820
= 428,800
LS 382,920
ojefg A ot 2te| 806,220 642,400 163,820
= 428,800
s 377,420
ojord A X&2tel 9,000 11,700 A2,700
202 04l 9,000 11,700 A2,700
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2N B2
M =S AZHIA AF(EA/22428)
el QoA ol ke EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 2LHoIH 9,000 11,700 A2,700
Ot A Xc2e] 9,000
RS2AAST 2l 2,000 2,100 A100
206 M=l 2,000 2,100 A100
01 M=4l 2,000 2,100 A100
023, A= S M 728 2,000
JREEENXT AZ2I2HE RS 2 9,000 9,000
201 et 3| 9,000 9,000
01 At22t2l] 9,000 9,000
OZESENXE A2 2N E3E 29 9,000
22 B89 sd+¢ X2 144,000 0 144,000
308 XXM SOl 144,000 144,000
01 XN BELES 144,000 144,000
Ozt 852 sd+d A& 144,000
o|2J|2t AxmEZe] X XA(=1) 22,620 0 22,620
= 17,400
= 5,220
403 AXIEHMSA=Z0l1d 22,620 0 22,620
= 17,400
= 5,220
01 XM A =2 22,620 0 22,620
oLzJl2 AZE3d &X X 22,620
= 17,400
= 5,220
OIA2RESA I2ES(=31) 10,000 10,000 0
= 5,000
[ 5,000
301 LEtE N = 10,000 10,000 0
= 5,000
= 5,000
01 Al EE A S(FRDEXH) 10,000 10,000 0
OlIAFESSsAU XzES 10,000
= 5,000
= 5,000
ST S X AE (BTLAIY) U= X (212) 609,600 609,600 0
= 406,400
== 203,200
308 AXIHSOIA 609,600 609,600 0
= 406,400
< 203,200
01 HAHHBSEELS 609,600 609,600 0
OAM=SNEAL LUHE XH 609,600
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